RiBRE 101 BEEALIRLAANSERAA

EHAE © BIERBEE S B % A TR
ARABELETRBE- R (do B SRIBREPRI R FHE > f@?l’ﬁi%%%&%ﬁikﬁ R 3E)
HI10E > HE 1045

2 3
1 2J - FIRE AT BRI 47 -
1 2 :

[2] Fei—MEEE (0,3) 0 (1,2) B (3, 12) Z =K ZHE= -

1 -2
2

—4

. .
Bl 4= 5 » Tt 4 BT 22— -

S NN 0 o
B0 = W

-1 -3
[4] AEHEBERAR 2% +2xp+2y° =9 ZE -

[S] > 4 Bl 3 3AERE » A 2B (eigenvalues) 1+ -1 > 2 » AR K 8HTAL

1 1 1
E(eigenvectors)& |0 » 1J 1] 3R A4
0 0 1

[6] #ER [ |x - D(x - 2)[dx
7] #EHES [resinxdx -

(L3 L) w5l 2) w75 D) hon (1) o
[8] SHEKAERIAT 1 (2)+3 [zj 45 @ +7x(2) +9x(2) N

[91 SHEEEI /()= x> ~2x+3 £EEER [-1, 9] ohidr Ak [HERfR I -

[10] %@%Eﬁ%ﬁ f(x)=2x>-3x2 ~12x+1 » xe R -



